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Today we will n”va learn 0"y 97 of pwiTR NoON.
Some of the topics we will learn about include.

TIoRI T D

onw o

If a 172 770 married a ninbSR with both, pwiTp and a partial
7R3, he receives two Malkos;

One for the pwiT’p, in which he transgressed the Issur X5
nP%

And one for the nx’3, in which he transgressed the Issur X5
55m by causing the 15X to become a n55m.

The Machlokes »2x and X171 regarding

RIPAVALY

If he was only w7pn the nSR with no X3, does he
receives Malkos or not?

They both agree regarding

7> Sva

If he only performed nx»a with the 73R, with no pwrp,
he receives Malkos.

And they both agree regarding

izl nbiaiiinionl

5va R WP DRY

WP R 5va

o IRY

A 587w who remarried his divorcee receives Malkos only
if there was both pwi7°p» and nxa. However, for puymp
with no X3, or for 7x’a with no pw17p, he does not
receive Malkos.

The four opinions as to whether a 7 is forbidden to
marry a 7 n3, the daughter of a convert;

Partially depends on whether one or both parents were
[mLbH

The Machlokes nm °27 and oon regarding

WO I VINRA

If a father testifies about his son that he is a 911, he was
born through a 32 Mo'R, is this testimony accepted or not?
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Machlokes »ar and 823 They both agree
regarding regarding

N WP NP Sya

They both agree regarding

MW PTNN2
22 RN WP DRWY
WP R Hya
NPY IMRWY

Four opinions:

Whether a o

is forbidden
to marry anam

The Machlokes nTi »22) and DON
regarding

NN NT 212 MR
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So let'sreview ...

AT 27 IR

TIPOR2 DT 1770

onw nb

If a 573 170 married a nanbR with both, pwiTp and a partial
7R3, he receives two Malkos;

One for the pwrTp, in which he transgressed the Issur X5
np%

And one for the 718’3, in which and he transgressed the
Issur 55 X5 by causing the 7mbx to become a n55m.

And if X2 ), he performed a complete X3, he receives
a third Malkos for the 1x’3, in which he again transgresses
the Issur 55m X5 by also causing his children to become

oo5m.

7R says

PR ALY

Ifhe only performed ywi7p but no X3, he receives
Malkos for np> RX%;

o Sva

And if he only performed 7ix’a but no pw17p, he receives
Malkos for 55 85, because as Rashi explains

TN

WOl TOINIING

Each Issur is independent of the other.

N17 disagrees and says

wTp

70 IR

For pwyrp with no i3, he does not receive Malkos for X>
np, because

72312750 pUITR

The Issur pwi7p is dependent on X°3, as the Pasuk states
together

55m R M RS

np RS DYoL M

S5m0 RS> own

The ywrmp is mox only ifit's followed by nx»a.

However, X171 does agree that

7o Sva

For nxva with no pwimp, he does receive Malkos for 5
55m, because, as Rashi explains

POITRAMOMIPR AYY2

The Issur X2 is not dependent on pwi7p, as the Pasuk
states

PHY IV Fom R

551 R I

He is liable for causing her to become a n55n.

Praba =t e X
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Withpwrmp and a partial N2
he receives two Malkos
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. The Gemara continues
PR ATIM

MM I DL DM

1WA TNN2

52 R9 WP DRY

7D IPRY

Both X2 7ax agree regarding a YR7w who remarried his
divorcee that he receives Malkos only if there was both

pwrTp and nX°2. However, for pwr7p with no X1 he does l?}): wT’P wa
not receive Malkos, because
v TP RN 92 ®,M

S the Pasu specines
AWRY 1> NYnb AnnRb w5 N Hwa Hov RS nPf? 1]’&\’) ﬂP'I'? 1]’&\’)
He may not give her pw17p so that she becomes his wife
with R,

So too, Because Because

o e 2 970#/’/’//9'/7’? s 1 7P
For nxva with no pwiTp, he does not receive Malkos either, '737 HB:): B:-,» NB '737 :-;By: B:p NB
because . . B . i 13 L B
AN 70K PR 717 ﬂ.ﬂﬂ'.‘ ﬂﬂﬂ‘.“? =i

The Issur is only for a marriage but not for the nx’3, as the anB 71: m"‘n’:
Pasuk specifies

annRS " noya Hov &S

T
esk‘e‘l i .
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The previous Mishnah mentioned three opinions as to
whether a 175 may marry a 73 n3, the daughter of a convert:
1.

1 27 holds

P MN

95t 55 n3d

The daughter of a 73, even if her mother was a bxw na, is
like the daughter of a 55m, in that they are both nnno> iy,
disqualified from marrying a j>.

2.

2pY’ 12 MHx 27 holds

177 RWIW ORI

Annob 7w M

SRIW’ N2 RWIV N

Annob 7w M

If her father was a Yx7w> while her mother was nav), or her
father was a 73 while her mother was a YXw n3, she is
eligible to a jr>.

0 RWIW 2 HIR

nbinspRapaiviaRlighl

If both parents were o™, she is 35 M09,

T TV IYOR DM D7D TARI I3 TR

ORIV DR RANW TV

A person is considered a 13 through both parents even if he
was a 10th generation 7 or a freed servant, unless his
mother was a Y5Rw’ na.

DafHachaim.org

The previous Mishnah mentioned..

Three opinions as to
whether a > may marry a~am:

1

2DI/D PI

"51 13 e
251 551 nas

In that they are both
nnN>b nbipe

2
PPy ol 7)7/@ Y]

NI AN NI HNee

b2 N3 AN
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01 27 holds

DA RWVIV N R 3
b nrwsIna
Even if both parents were 0>, she is still eligible to a j>. Ry

D R 3 AN
M [ 19

Even if both parents were D2
she s still eligible to a)n>

The Braisa mentions yet a fourth opinion;

N7 2 YRV 17 says The Braisa mentionss a//m/fz%/ opinion
AR 0P D30 WHW DA MRS N

125 MWD

Even the convert herself, if she became a n7v) before she 4

was three years old, is eligible to a j7>.

2P JR I D)
A
TN 2N 2N O N R
O M maws

Even the convert herself
if she became a M2 before she was 3 years old
iseligibleto ajnd
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As the Gemara explains

WIT TAR RIPD 190

They all derive their opinions based on a different
understanding in the same Pasuk in SRt which states
WIS ONY IR’ RS W MIOR

ORIV "2 YR MMNA DN D

A v77 175 may marry only a woman who is ytn mbna
SR 13

1M *27 holds the Pasuk means

ORIV VI 5

As Rashi explains,

ART D IT VN IR Y

She is permitted only if the main source of 71, the father,
was a YR’

990 3 NAPIORS

apY 12 M5R 117 holds

Daiya)

VR NZPNION]

As Rashi explains

DRI 1 132 WIND YIT17OR

She is permitted even if the minor source of v, the
mother, was a YRw;

DI RWIW 73 N2 °9oR>, where both are o™

DY 27 holds the Pasuk means

ORIV IV D

She is permitted even if both parents were 0, as long as
she was conceived after her parents became DR
nI ORY, a convert herself;

M 12 pu»w 27 holds the Pasuk means

ORIV PN IV D

She is permitted even if she was a M), as long as the
o'1na were developed after she became a bR

Ay the Gemaras explaing...

JIWNT TNX XN (01

oD ot M XD i Riax
N :;ﬂ‘w: oIS TR "D

2
PV P 7)1/,@ oY
VITH
197981
VIT NP

£ V9 DDH
oP0 1 NS

4

.-//)/%p S 73
meany

1VITIY D
N"91nN2
Pl a L)

Ifthe 5102 developed

after she became a bR

DafHachaim.org

1
DI’ PI

The Pasuk means
Y7 95
YRTVM

DI NIND MY
300 19 WO
95¢ 93 H3 PDHd

3
20/’ Q)

The Pasuk means
VTV M
pl UL

If she was conceived
after her parents
became DR
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If a father testifies that this son of his is a 7tm», he was
born from a woman who was forbidden to him by a 7%o°R
M), his testimony is not accepted.

RIFTIOD PYDI T1A 5P DT DPIw 10K

D3RI DR

And even if both the husband and wife testified that their
unborn child is a 711, he is not from her husband, their
mTY is not accepted, because as Rashi explains

OIR R P

POY YD I IR

They are disqualified for m7 because they are relatives
of the child.

IR AT 1Y

DYINR]

A7 ' disagrees and holds that the father’s m7y is
accepted.

As explained in a Braisa, because the Pasuk states;
DI 0 1Y N Y AR 12 NI IR D

The father identifies his firstborn son, to receive a double
portion of his estate. The word 7> teaches

DINRY N

He shall make him known to others.

AT %27 MR INROD

M5 DR ORI

M2

A person is believed to identify one of his sons as the
first-born.

7132°32 7 W5 DN ORIV DV

X151 12 7N AW 12 T I DR ORI D

A father is likewise believed to disqualify one son as a

55m.

DR DM

TPRIIPR

The father is NOT believed to say

b A M v R m

He’s only believed to say

M2

And the Pasuk refers to

R332

A case in which it's unknown which son is the first-born.

DafHachaim.org
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Zugt Di Mishnah
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WA ST 03D NN
11ANY N

DY B3 BN
N7 0 [P WA 51)
D'3AN1 DN

Even if the husband and wife testified

Becawse

1y 775/ 90> Vi 13k £1» AP

AN AT 29
Q'3aN]

the father’s TV is accepted

AyWWwErW'
SINUYS {2 M5 mN D
i »q 1 MM o

,on/),é/wa

[=)pla) Jalakig)

mm N
And the Pesuk r%ery ty
£r109 21933

71T 20 N NoD
91 DTN (1N
o2 Na
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And the Gemara explains:

The Pasuk of 7> is not needed regarding the assets that
the father currently owns, because

IO D RAD WA RT D

5727 RO M

Since the father has the authority now to give these assets
to his son as a gift, he is therefore j»px1 now that his son
shall inherit these assets as a 102

Rather

191 9IRS 1Ho1w o512

The Pasuk is needed regarding the assets that the father
acquires later, because

095 X2 RYW 727 P DR PR

The father cannot make a transaction now, to take effect
later when he acquires these assets. Therefore there is no
wn.

However, according to 7’827 who holds

D95 K2 ROYW 727 MIPH DR

One can make a transaction now to take effect later;
The Pasuk is needed only for

OB RITWI 12 1901w 070

The assets the father will acquire while on his deathbed,
because as Rashi explains;

oO2YY DRI YW IRIN

RI7 700 72N>

Since he cannot make the transaction of the gift at the
time he acquires these assets because he’s a oo, he
cannot make this transaction now either even according to
R’ Meir; and therefore there is no wn.

DafHachaim.org

And the gemam/ %Mkm

The Pasuk of 2> is not needed
regarding the assets

the father currently owns
because

NINN D' NANTM WA INT AN
MY NIm

Rather

19°N INRY 1991w 00012

because
D5IYb N2 ROW 72T MpH DTN PN

However, accor/én?/ ty 1w ) who holdy
w/)//tp xS, PN Pt

The Pasuk is needed only for
DD RINWI 17 19D1W 0OD)

because as Rashi explains;
DOWD ONH3E DYE3N SO
IO DN 93 WS
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